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Question : 1 
Radha, Sheela, Mahima and Seeta are sitting along with 
a  rectangular  table.  Radha  is  to  the  right  of  Sheela. 
Mahima is to the left of Seeta. Which of the persons 
given in the options is sitting opposite to each other? 
a) Sheela - Seeta 
b) Radha - Seeta 
c) Radha - Sheela 
d) Mahima - Radha 
 
Question : 2[M.A.T. 2009] 
Four  boys  and  four  girls  are  sitting  around  a  square 
facing the centre. One person is sitting at each corner 
and at the midpoint of each side of the square. Madhu 
is sitting diagonally opposite to Usha who is to the right 
of Geeta. Ram who is to the left of Geeta is diagonally 
opposite to Gopi who is to the left of Bose. Position of 
Suma is not to the right of Madhu but in front of Prema. 
Who is sitting opposite to Bose? 
a) Geeta 
b) Prema 
c) Suma 
d) Madhu 
 
Question : 3 
Three friends Ravi, Deepak and Mohit are sitting along 
with the corners of a triangular field facing the centre. 
Ravi is to the left of Mohit. Who is sitting to the right of 
Mohit? 
a) Ravi 
b) Deepak 
c) Mohit 
d) None of these 
 
Question : 4 
Five children A, B, C, D and E are sitting along with the 
corners  of  a  pentagonal  table  facing  the  centre.  B  is 
between E and C. D is to the right of E. Who is to the 
left of C? 
a) b 
b) A 
c) D 

d) C 
 
Question : 5 
If all the persons are made to sit in alphabetical order 
in a clockwise direction starting from P, then the 
position of how many persons remains the same 
(excluding P)? 
a) None 
b) One 
c) Two 
d) Three 
e) Four 
 
Question : 6 
Which of the following is true regarding Y? 
a) T is not sitting beside Y 
b) Y is sitting at the midpoint of a side 
c) R is second to the left of Y 
d) P and V are beside Y 
e) None of the above 
 
Question : 7 
Who is 4th to the left of V? 
a) Y 
b) R 
c) T 
d) Q 
e) W 
 
Question : 8 
What is the position of Q in respect of R? 
a) Immediate left 
b) Second to the left 
c) Third to the left 
d) Third to the right 
e) Immediate right 
 
Question : 9 
Four  out  of  following  five  are  some  how  same  and 
therefore they form a group. Which one of the 
following does not come into this group? 
a) Y 
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b) W 
c) V 
d) R 
e) P 
 
Question : 10 
Who is third to the right of W? 
a) R 
b) S 
c) Q 
d) Y 
e) Cannot be determined 
 
Question : 11 
How many people are there between T and Q? 
a) None 
b) 1 
c) 2 
d) 3 
e) 4 
 
Question : 12 
Which of the following is not a correct neighbour pair? 
a) P and U 
b) S and U 
c) Q and T 
d) R and U 
 
Question : 13 
Who is at the same distance from S as T is from S? 
a) Q 
b) R 
c) S 
d) U 
 
Question : 14 
Which of the following group has the correct order of 
arrangement? 
a) P, U, Q 
b) U, P, T 
c) Q, R, U 
d) S, P, Q 

Question : 15 
If one neighbour of P is S, who is the other one? 
a) Q 
b) R 
c) T 
d) U 
 
Question : 16 
Who is placed opposite to T? 
a) Q 
b) R 
c) S 
d) U 
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